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QID : 1001 - A body is thrown up at an angle of 45° with a velocity of 100 m/sec so as to describe a parabola. Its vertical velocity on point of return down will be

Teh 37 100 #Y./Yehs & AT A 45° & FHIVT N WAATHR T G Behl ST & | FHHT FLATE 397 A1l TR arel foieg 0X Tewetr gam 2
Options:

1) Zero

LTI

2) 130 m/sec

130 #r./q5s

3) 50 m/sec

50 #r./a%s

4) 70.7 m/sec

70.7 #Y./8%s

Correct Answer: 70.7 m/sec

70.7 #r./8%s

QID : 1002 - When the spring of a watch is wound it possess .

Sfe g3t o o psferd gl &, drsae @i @l
Options:

1) heat energy

SR Foll

2) kinetic energy

aifast Far

3) potential energy

eufas s

4) wound energy

S (divg) T

Correct Answer: potential energy

eufas s

QID : 1003 - When a body falls freely under gravitational force, it possesses .

SIS 1S A el J[ecalshyUT aef & HefieT A T ey, arsadt ____ gl
Options:

1) maximum weight
fAwaa o

2) minimum weight

T R

3) no weight

IS $T A&

4) No effect on its weight
$R O RIS TG 7L
Correct Answer: no weight

FE AR AL

QID : 1004 - The apparent weight of a man in moving lift is less than his real weight when it is going down with

s e 7 nﬁ@mgwwﬁmmmmmﬁ?mﬁmml
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Options:

1) uniform speed
THEHT IIfa

2) an acceleration

T

3) some linear momentum
Fo I8 Faar

4) retardation

faeieeT (Rerdere)

Correct Answer: an acceleration
EEUE

QID : 1005 - A body is thrown vertically upwards with a velocity of 980 cm/sec, then the time the body will take to reach the ground will be

T g @1 980 A+ /Aehs iy arfy ¥ FeaTer IR A 3R Her | wwﬁﬁﬁaﬁﬁmwmq@ﬁﬁwﬁmmwgﬁm
Options:

1) 1 second

1 3&s

2) 2 seconds

2 U3

3) 2.5 seconds

2.5 Q&3

4) 4 seconds

4 T3

Correct Answer: 2 seconds
2 ¥%s

QID : 1006 -

The figure below shows a weight of 20 kg suspended at one end of
cord and a force of 30 kg applied at other end of cord passing over a
pulley. Neglecting weight of rope and pulley, tension in cord will be

e & 2 et o gmia T € T TRA (qeh) @ gl e % =
@ U R TR 20 35771 39 w1 71 ¢ R gl R W so fmam. &1
I R fovan 7 g1 T 3R gelt & YR &I 99700 BHd g, T
 fooe11 o=71d (€2F) Bi?

Options:
1) 30 kg
30 fR.am.
2) 20 kg
20 fR.am.
3) 10 kg
10 fR.am.
4) 50 kg
50 for.am.
Correct Answer: 30 kg
30 f.am.
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QID : 1007 -

The weights of 2W and W are connected by an
inextensible string and rest on two inclined planes,
inclined at 30° and 60° respectively as shown in the
figure below. Angle 'a' will be equal to

g e 1% APfa & TR 2w 3R w al YR U@
sifer=1 (S S 7 o 99) 2R (REm) 9 gF §¢
el IR HH 30° 3R 60° W R 3@ # €1 Sl
o, HEsTeEnm

Options:
1) 30°

2) cos! (1/2)
3) 45°

4) tan’! [(v3)/2)]
Correct Answer: tan™ [(v/3)/2)]

QID : 1008 -

Two rectangular blocks of weight '"W' each are
connected by a flexible cord and rest upon a horizontal
and an inclined plane with the cord passing over a pulley
as shown in the figure below. If pis the coefficient of
friction for all continuous surfaces, angle '8' for motion

of system to impede will be

< 1TSSl & SATHR, U TR (Geifaeraren) Tl
& 1Y, O U TRIT (JelT) H S oR W@l 8, & &l
RRI R YR w & S {HdHR 1% oo gu ¢ o e 9
U 8o 00 W AR I g gL a0 W g | Tfg
Tad (I I=-4Y) Tag o [e18 g8UT 0T gl dl
TOUTTER @1 T1fcl B STeT STer arell HIvT 6 37 g

Options:
1tanb=p

2) tan(6/2) = p
3)tan (20) =

4)tan 6 = 2
Correct Answer: tan(6/2) = p
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QID : 1009 - The center of gravity of a (10 x 15 x 5) cm? section will be

el (10 x 15 x 5 ) F.3f.3 & repemmer Q)@ eca s grem
Options:

1) 7.5cm

7.5 .4

2)5.0cm

5.0 @4

3)8.75cm

8.75 {.#T.

4) 7.85 cm

7.85 ¥4,

Correct Answer: 8.75 cm
8.75 {.#.

QID : 1010 - In simple harmonic motion, acceleration of a particle is proportional to

Tl 3mad (River groffee) aifey o, Forareamor & @A grem
Options:

1) rate of change of velocity
391 7 RadeT Fr e

2) displacement

faEaTasT

3) velocity

I

4) direction

feerr

Correct Answer: displacement
faEaTasT

QID : 1011 - Rate of change of momentum takes place in the direction

HAT H aRadT drax & fERm A g 8
Options:

1) of motion

afa

2) of applied force

IR o

3) opposite to the direction of applied force
IRIRT s & fauda feam

4) perpendicular to the direction of motion

afa Y e & eFgad

Correct Answer: of applied force

IR Fof

QID : 1012 - The work done by a body in moving down a smooth inclined plane in comparison to being dropped vertically downwards from same height will be

Teh ST A B AR T g% Acle H Jore1 A FA FaAr$ Y Rehell S g3 TIg T Ueh 9 R T ST arelt gram|
Options:

1) more

s

2) less

A

3) equal

HHATT

4) zero in both cases
are A
Correct Answer: equal
HHATT

QID : 1013 - Rate of change of momentum is proportional to the

Faer 3 afadet &7 & FHTIT BTl ¢
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Options:

1) displacement

[EEReC

2) velocity

T

3) acceleration

cauT

4) impressed force

gHTRIT (3FIES) 9ol

Correct Answer: impressed force

T (SFIES) Fof

QID : 1014 - Which of the following have same units?
A. momentum and impulse

B. stress and pressure

C. work and kinetic energy

rAfaf@a 7 & fradr soS TaT g §?
A. TAT 3T 3T (3ATCH)
B. ¥&¢8 AR gw

C. w1 3R aifast =T
Options:

1) A alone

Fad A

2) B alone

%ad B

3) C alone

Fad C

4)A,Band C

A B3RC

Correct Answer: A, Band C

A, B3R C

QID : 1015 - A ball is thrown up. The sum of kinetic and potential energies will be maximum at

T 3 T FUR el AT &1 AT (Frgafes) Fair 3R Fufas (@eERirer) i & AT JfeHdA grem|
Options:

1) ground

g

2) highest point
ECCLLACEARS

3) in the centre while going up
IR ST F SR &g 7

4) at all points

REINECCI

Correct Answer: at all points

Tsft fregait o
QID : 1016 - Which of the following is not a dimensionless parameter?

ArAfaf@d # & Fia a1 IEERRd I (ST W) 76T &1
Options:

1) Reynolds number

2) friction factor

edoT e

3) pressure coefficient

T A[UTIh

4) kinematic viscosity

G QAT (FrIAAIES FaEhITa)

Correct Answer: kinematic viscosity

YGNTCIh QAT (FrIiAICS faehfady)

QID : 1017 - The specific speed of a pump is defined as the speed of a unit of such a size that

g9 1 fafdrse a1l (afafthe wiig) U 3R T shis H Al S E, |
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Options:

1) it delivers unit discharge at unit head.

ST SIS 88 W g8 fordesT (FBeare) fEeliar el §

2) it delivers unit discharge at unit power.

S s1s ATFT R 1S AdesT Beliar el &

3) it requires unit power per unit head.

TS 9T SIS 83 & foIT 51 ATFT T 3T gt &

4) it produces unit horse power with unit head.

S gertS oMY & FTer SRS 3799 ATFT (BT UTa) 3cTeed hial &
Correct Answer: it delivers unit discharge at unit head.

Sl 3a1S 85 W 5hTs fdeet (e fBellay el &

QID : 1018 - The total energy of each particle at various places in the case of perfect incompressible fluid flowing in continuous stream

e aRT & yarfed &l 61 3cad NS a¥el & Haer H fAffiest Tl I 38F T HoT A Fof Fofl
Options:

1) keeps on increasing.

ol Tell STl &

2) keeps on decreasing.

et Tell S 8

3) remains constant.

TR w8

4) may increase or decrease.

95 T U Tehell &1

Correct Answer: remains constant.

e Tl B

QID : 1019 - Pressure intensifier increases the pressure in proportion to

EF i (SUIHRR), &9 T & FHAITIT H T 8|
Options:

1) ratio of diameters

ST & ATl

2) square of ratio of diameters

S & T3 & ATl

3) inverse ratio of diameters

ST & ST

4) square of inverse ratio of diameters

ST & SGHHATII T F3T

Correct Answer: square of ratio of diameters
S & T3 & ATl

QID : 1020 - Normal depth in open channel flow is the depth of flow corresponding to

3N AeTeT YalTg & AT TGS % Haldd # Jarg Y 7S gl 21
Options:

1) steady flow

foRaR garg

2) unsteady flow

3R vaTE

3) laminar flow

quieel (fAeR) JaTe

4) uniform flow

THGAT JdTg

Correct Answer: uniform flow
THAHT JaTE

QID : 1021 - Which of the following is not a rotary pump?

frafaf@a ¥ & Pl goff (el 90 7t &2
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Options:

1) gear

EIDry

2) vane

CCl

3) screw

a7 (5%)

4) axial

Kitaie

Correct Answer: axial

e

QID : 1022 - Venturimeter is used to measure flow of fluids in pipes when pipe is

SEIeR &7 ST 95T F el & TaTE A & T g R ST § ST asd RG]
Options:

1) horizontal

gifast

2) vertical, flow downwards
SR, T Y 3R garfgd

3) vertical, flow upwards
FEATER, FIR FI 3R yared

4) in any position

et off Reafar &

Correct Answer: in any position
e o Rearfa &

QID : 1023 - Hydraulic accumulator is used for .

s3Il TFengAele & 9T & fore fomam Sirem 81
Options:

1) accumulating oil

GEE:C

2) supplying large quantities of oil for very short duration
gl A e & forw sget 31T A 3 et i 3mqfet

3) generally high pressures to operate hydraulic machines
grsgioreh AT & TraTelel g HA: 3T &

4) supplying energy when main supply fails

T 3Tt & IEH gt I Foit 1 qfet

Correct Answer: supplying energy when main supply fails

T 3Tt & 3B glot I Foll T Mt

QID : 1024 - Differential monometer is used to measure

TSRS AR ST y=eT AT & forT fhar e #
Options:

1) pressure in pipes, channels etc.

a5y, T IS 1 a1

2) atmospheric pressure

ERCGECIRIE]

3) very low pressure

IS i g

4) difference of pressure between two points

2 Rt & e & ¥ iR

Correct Answer: difference of pressure between two points

ar faeg 3t & AT g & 3R

QID : 1025 - The total pressure force on a plane area is equal to the area multiplied by the intensity of pressure at the centroid, if
A. the area is horizontal

B. the area is vertical

C. the area is inclined

TE &F T A dTell el ST ool &7 T hgreh A &1 ¥ eyt (SERALN) & I[OTART & R gielr &, I
A. 8 &fasT En
B. 819 FEATeR 8l
C. &1 ZIhT §31T &l
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Options:
1)only A
Fad A
2)only B
Fae B
3)only C
Fadl C
4)A,Band C
A B3RC
Correct Answer: A, Band C

A B3R C

QID : 1026 - A piece weighing 3 kg in air was found to weigh 2.5 kg when submerged in water. Its specific gravity is

4T 3 3 FoR.2IT. 8T &7 TarsT I 3 SaTeT OX 2.5 6.3, &7 BIAT ¢ | ST FAfRISe aT%ed o gram?
Options:

1)1

2)5

3)7

4)6
Correct Answer: 6

QID : 1027 - The dimensions of coefficient of viscosity are

QAT (TaEehITHET) T[UTieh T ITITH T BT &2
Options:

1) MiLitt

2) MILiTt

3) MiiTt

4) ML 7l
Correct Answer: M1L-1T!

QID : 1028 - A liquid compressed in cylinder has a volume of 0.04 m3 at 50 N/cm? and a volume of 0.039 m3 at 150 N/cmZ. The bulk modulus of elasticity of liquid
is

et 3 v FNf3a aver #1 3maae 50 =gge/ {32 0¥ 0.04 793 3R 150 =geet/ F.7.2 9% 0.039 H.3 §| A T AT FeATELAT A (T HSIerd HH
SATTECTHET) FaT gram?

Options:

1) 400 N/cm?

400 =ga1/3.77.2

2) 4000 N/cm?

4000 =ga1/3.77.2

3) 40000 N/cm?

40000 Fe=/3.77.2

4) 40 N/cm?

40 =eat/a.3.2

Correct Answer: 4000 N/cm?2

4000 #e=1/8.70.2

QID : 1029 - Maximum work is done in compressing air when the compression is

S gl W, a1 o HllgeT ¥ et S foham ST &1
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Options:

1) isothermal

AT

2) adiabatic

FASOT

3) polytropic

g

4) None of these

G W HIS LT

Correct Answer: adiabatic

FHSOT

QID : 1030 - Surface tension .

9SG ool [
Options:

1) acts in the plane of the interface normal to any line in the surface
FaE 1 Rl off YT & Feaad 3aNyss (SeTHH) ad T F Ll ¢
2) is also known as capillarity

FRAFT (FRARE) & A F ot ST ST

3) is a function of the curvature of the interface

HAYSS (S2THH)  deh T Felel (HeheleT) il &

4) decreases with fall in temperature

ATIHATT 3 FAT & TY geT 5

Correct Answer: acts in the plane of the interface normal to any line in the surface
HTg T fner ot YW1 & eoarae eSS (SSThd) del T H &l g

QID : 1031 - In a static fluid .

BffF R RaTHA__ |

Options:

1) resistance to shear stress is small

R TH T IR HA giem g

2) fluid pressure is small

T EaTd HA @ B

3) linear deformation is small

A fapiar (BwRAN) A g 81

4) only normal stresses can exist

Aol oFead e (A1Hel ToH) FAlg gia o
Correct Answer: only normal stresses can exist

Fad draad faae (A ®@w) A g &

QID : 1032 - When a piping system is made up primarily of vertical lift and very little pipe friction, the pump characteristics should be .

aaquﬁﬁﬁmaﬁgw:Wm(aiﬁwﬁ%)ma@wmm#mm&adqﬁmm gleir Tfgul

Options:

1) horizontal

gifasT

2) nearly horizontal

ST aifAST

3) steep

Jcafersn a3t (et @erre are)
4) first rise and then fall

TEe ggaT § 3R A Tear |

Correct Answer: steep

Jcafers a3t (et @ereT are)

QID : 1033 - A block of ice floating over water in a vessel slowly melts in it. The water level in the vessel will

TIoT 7 il & I R 6T T FT T sclisp R R 557 aerdr §1 sa & Trei &1 TR SaaT|
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Options:

1) start rising

=T IR &Y

2) start falling

R AIRFT T

3) will remain constant

ir=iry

4) will depend on temperature of water
STeT & YA W AR g |

Correct Answer: will remain constant

£33y

QID : 1034 - Low specific speed of a pump implies that it is

9y & e faftree aifa g § i =g gl
Options:

1) centrifugal pump

3eheg (FeArgaTer) Iq

2) mixed flow pump

[GIECRCIAL]

3) axial flow pump

376 waTg 9

4) axial flow pump or mixed flow pump
3787 vaTg 99 3rar fAEd vag 99
Correct Answer: centrifugal pump

AT (HFGITer) 9

QID : 1035 - For pumping viscous oil, which of the following pumps will be used?

I ol (Faashra 31mer) &t a1eR shelst & forw Reafaf@a & @ g 99 & suier R srar &2
Options:

1) Centrifugal pump

Hahegr (HeAwgaTer) I

2) Reciprocating pump
[GIECRCIAL]

3) Turbine pump

[CIEC R

4) Screw pump

&hY 9q

Correct Answer: Screw pump
Y 99

QID : 1036 - Impulse turbine is used for

SHYCH oSl &l 3TIT F AT Ear gl
Options:

1) low head

[GEo kS

2) high head

ERCh )

3) medium head

ALIHA g8

4) high flow

3T die

Correct Answer: high head
TS

QID : 1037 - An ideal fluid is

T 3T Rel I

10/50



6/13/2017

Options:

1) similar to perfect gas

Scad 3 F GAG BT ¥

2) one which obeys Newton's law of viscosity

I8 BIclT & S #gge & QA (FAFRITA) fAge 1 drefe el §
3) frictionless and incompressible

TR 3R 3T gar &

4) very viscous

ag’amaum(mw)g‘rar%‘

Correct Answer: frictionless and incompressible

aYTRTR 3R T g §

QID : 1038 - The ratio of power produced by the turbine to the energy actually supplied to the turbine is called .

TalTSe GaART SAfeld AT &7 Tallgat T ATEciaeh ITfeid ol & gt ____ #1
Options:

1) Mechanical efficiency

FiAF gaTdr

2) Hydraulic efficiency

ERICE R

3) Overall efficiency

e (3T gatell

4) Turbine efficiency

oSt geTar

Correct Answer: Overall efficiency
e (3NaTHTeT) Eatell

QID : 1039 - Laminar flow occurs in pipes, when Reynolds number

a1sq & qoieely yaTg (AfAAR tell) 81T 8, ST Weilos &ear g gl
Options:

1) lies between 2000 — 3000

2000-3000 & &=

2) lies between 3000 — 4000

3000-4000 & &

3) is more than 2000

2000 & 31fes

4) is less than 2000

2000 & &

Correct Answer: is less than 2000
2000 & &

QID : 1040 - Reaction turbines are used for .

RUeI Talisa T 3TIET F fAT gar gl
Options:

1) Low head

AT es

2) High head

ERCh )

3) High head and low discharge

37 83 AR = fAde= (Beam)

4) Low head and high discharge

=T 83 3R 3= fadga (Bwme)

Correct Answer: Low head and high discharge

o g3 3R 3w Pdga (B

QID : 1041 - Specific speed of hydraulic turbine is dependent upon

grsgifere ealge T QRIS afy R AR = d
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Options:

1) speed, power developed and flow

aifq, efaa afFa 3R g

2) speed, power developed and effective head

aifq, Refaa afFa 3R gemdr &3

3) speed, head and flow

a1fdY, 83 3R gare

4) speed, mean diameter and head

afa, 3iaa s 3k gs

Correct Answer: speed, power developed and effective head

Tt e e 3R gemd &3

QID : 1042 - The cavitation in reaction type hydraulic turbines is avoided by
A. Using highly polished blade

B. Using stainless steel runner

C. Running the turbine at designed speed

D. Installing the turbine below the tail race level

Ruerers R &I grggifere calge 7 HfacusT T gaRT AT S ThlT 2
A. 3T GITIeT SoIg &l JATIT

B. T TS T Al JANIT X

C. 3iffeua (Beme) a1fd ) calga & ger &
D. T I TR A o ealseT I FEafa &3
Options:

1)only A

Fad A

2) A and B only

Fael A 3B

3) Band Conly

Faer B 3R C

4)A, B, Cand D

A, B,C3RD

Correct Answer: A, B, Cand D

A, B,C3RD

QID : 1043 - A Hydraulic accumulator normally consists of .

FrEgifore TFRHIC HAAd: fRed J= T gl 87
Options:

1) two cylinders, two rams and a storage device

& fAales, &7 3 3R U TR 3UaoT §

2) a cylinder and a ram

T Reest IR &

3) two co-axial rams and two cylinders

g game 3 3R o Rafeis

4) a cylinder, a piston, storage tank and control valve
Correct Answer: a cylinder and a ram

H RQeeR IR T T

QID : 1044 - Surface tension of water

STel T JS6 delte (E90T) |
Options:

1) increases with decrease in temperature
ATAT 3 ol & T Fer §

2) decreases with decrease in temperature
TTIHTT H FH F AT gear

3) independent of temperature

AIATT W R g Far g

4) None of these

ERE R

Correct Answer: increases with decrease in temperature
ATIHATT H HHET & ATYT TGl &
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QID : 1045 - The point in the immersed body through which the resultant pressure of the liquid may be taken to act is known as

mﬁ@a@ﬂa@%@aﬁﬁmwgﬁraﬁmmm%mﬁmmﬁ%ﬁ@sﬂmm%?

Options:

1) centre of gravity
T[ecd g

2) centre of buoyancy
SccaTae e

3) centre of pressure
e

4) metacentre

AR

Correct Answer: centre of pressure

&S &g

QID : 1046 - High speed steel should have
A. wear resistance

B. hardness

C. toughness

39 AT FEIel H giaAT AT
A, TorTe (Ta13) Fierer

B. FSTeT (3T51H)

C. FORAT (THAT)
Options:

1)only A

Fad A

2)only B

%ae B

3)only C

Fael C

4) Both A and B

A 3R B gt

Correct Answer: Both A and B

A 3R Baat

QID : 1047 - 18-4-1 high speed steel contains

18-4-1 3= a1fad FEreT 7 A7 gier 87
Options:

1) 18% carbon

18% HIeeT

2) 4% carbon

4% I

3) 1% carbon

1% FHIeT

4) 0.7% carbon

0.7% HreT

Correct Answer: 0.7% carbon

0.7% FIaT

QID : 1048 - Essential gradient of any hardened steel is .

TR oft o1 TE&er FI 3MaTS JauTar (Af3Te) AT §?

Options:

1) Carbon

FTeeT

2) Cementite

R

3) Martensite

ATAST

4) Pearlite

Tdise

Correct Answer: Martensite

ATAST
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QID : 1049 - Steel containing 11% to 14% chromium and 0.35% carbon is called .

11% ¥ 14% IATH 3R 0.35% et JobeT FET FIT Fgellell &2
Options:

1) Martensitic stainless steel

AT TeoTord Tt

2) Ferritic stainless steel

FRfew wetora e

3) Austenitic stainless steel

JraeAfeH Tt Ehel

4) None of these

ERE R R

Correct Answer: Martensitic stainless steel

AAHRF TeTord el

QID : 1050 - Steel containing 18% chromium and 8% nickel is called .

18% SHITATH 3iR 8% TATehel Jere TEST AT Hgellell 87
Options:

1) Martensitic stainless steel

ATéTHIfCH TeAT T

2) Ferritic stainless steel

HREH Featerd Tt

3) Austenitic stainless steel

JRaeAfeH TeaTor el

4) None of these

G IS AL |

Correct Answer: Austenitic stainless steel

Jraeafes weaere Ve

QID : 1051 - The ultimate strength of steel in tension in comparison to shear is in the ratio of

TATe (Ew2reT) 7 EEXT BT oA FHLA (HeEIAT TIY), IIFIT Y Jofell 7 gar gl

Options:
1) 1:1

2)2:1
3)3:2

4)2:3
Correct Answer: 3:2

QID : 1052 - Steel containing pearlite and ferrite is

TeiTge 3R rse gad g &l
Options:

1) Tough

FOR

2) Hard

[E)

3) Soft

GES

4) Ductile

FAHAT

Correct Answer: Soft

K

QID : 1053 - Steel with carbon below 0.8% is called

0.8% & S HIeleT Jebel TEIeT AT Hgellell 82

14/50



6/13/2017

Options:

1) Eutectoid steel

JeFISS Tl

2) Hypo-eutectoid steel

gIeul-geaess Fe

3) Austenite

3iEesTse

4) Hyper-eutectoid steel
FEW-JLFISsS Felel

Correct Answer: Hypo-eutectoid steel

FE-TeereIgs el
QID : 1054 - Fluidity is greatly influenced by

T, @ Jcgrsysiad g
Options:

1) carbon content of molten metal
LA AT ST (FHIehlecc )

2) melting temperature of molten metal
TAUT Tl (ATCEICFIRER)

3) inoculant addition
ARISIgAI(SAIp ol USIH=)

4) pouring temperature of molten metal
AT TRATRA IR (ARaTarT)
Correct Answer: pouring temperature of molten metal

TAUT URATRAAIHATI(ARITATT)

QID : 1055 - Hardness of steel depends upon amount of

T T FORAT T TRr oY IR AT B
Options:

1) Pearlite

EiE

2) Ferrite

LR

3) Cementite

TFerse

4) Martensite

Aréase

Correct Answer: Cementite

[T

QID : 1056 - Which of the following steel key is usually strong in failure by shear and crushing?

R 3R whRier & Frarfaf@a 7 @ e @ &8at oit fawherar 7 Aegg a8 Ser?
Options:

1) rectangular

T IATRR

2) flat

HHIT

3) square

T

4) circular

JedlehlX

C
Correct Answer: square

il

QID : 1057 - In the flange coupling the two flanges are coupled together by means of bolts fitted in

FolsT ZaAeT (Ffiar) # aF woiet # diec fihe & aRT Teh A1y oA (o) fohar Sirar g1
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Options:

1) reamed holes

s Ba

2) machined holes

AT g

3) threaded holes

SECRTA

4) gasketed holes

AEhes g

Correct Answer: reamed holes

GERETY

QID : 1058 - The sleeve or muff coupling is designed as a .

TT AYAT A Tl I ____ o & H FoI1 T AT g
Options:

1) thin vessel

oo 9 (AT 35er)

2) thick vessel

A 9T (s aaeT)

3) solid shaft

3 ATFT

4) hollow shaft

@ (glel) eAATe

Correct Answer: hollow shaft

@ (ghel) e

QID : 1059 - Metal to Metal joint is used for applications subjected to

T § YT T 1S (AT g AT FASC) HT ITAT & 3elieT Jregorett & fow far Srar g |
Options:

1) very high pressure

KB ERAC)

2) very high temperature

it ag

3) very high pressure and temperature
HITUF g g T

4) severe vibrations

GG

Correct Answer: very high pressure

KB ERAC)

QID : 1060 - What is the addendum of a cycloidal gear tooth?

Tl (HgFeltgser) I ¢ &1 IRTRASE (TSHASH) T gIelT 87

Options:
1) cycloid

HSFAISS

2) involute
swarege
3) epicycloid

4) hypocycloid
[ERIGIEC RS

Correct Answer: epicycloid

TS FAISs

QID : 1061 - Which type of gear will be used for non-parallel and non-intersecting shafts?

ITATR 3R IR IREIRF (AleT ScIAHTEN) e & AT [T JhR & 9 1 39T glar g ?
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Options:

1) helical gears

gforrer R

2) hypoid gears

GERIESEERN

3) worm gears

e R

4) herringbone gears

FRareeT R

Correct Answer: hypoid gears

grsss

QID : 1062 - Welding units operate at what power factor?

TSS9 srrSar o QT e (UTaR hare) TR I T &7

Options:
1)0.3

2)06
3)0.8

4)0.9
Correct Answer: 0.3

QID : 1063 - Concentric helical springs should be

Tehfoet gferher fosiar EuiYl

Options:

1) wound in same direction

AT T # Fsferd giar

2) wound with opposite hand helices

3e¢ g1y aTel giererd &l feremm #F sford giar

3) could be wound in any direction

el o frem 2% vt g

4) direction of winding depends on the load to be carried
& arEf3ar fr e g1 T ST arer TR W) AR glar
Correct Answer: wound with opposite hand helices

32 grer arer R Y Rear aF et gl

QID : 1064 - In a horizontal flat belt drive, it is customary to use

AfaT Flc Sec sEa H, RRET AR W __ G gar 8
Options:

1) bottom side of the belt as the slack side during the transmission of power
AfFd & JART & aRI Soc A fATeh A1gs, Tord A18s i /e
2) top side of the belt as the slack side

SoC ST FU AISS, Toldh ATSS Sl RE

3) crossed-belting

HIES Teafear

4) idler in between

& # 3MEseR

Correct Answer: top side of the belt as the slack side

Soc FT IR IS8, Toldh A1SS I RE

QID : 1065 - In a V-belt drive, the belt makes contact at

Ve gsa #, doc_ HUS T B
Options:

1) bottom of pulley

TR () B e &

2) sides of the groove of pulley

TRAT (Gel) & 9@ o ThaaRT &

3) sides of groove and bottom of pulley
7[d & TFaART 3T g?»?r & =y

4) could make contact anywhere

Fg W 8 TIH T Thell B
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Correct Answer: sides of the groove of pulley

TRAT (Felt) & 9[d & Rkl

QID : 1066 - Which type of chain is used in motor cycle?

HAeX TIshel H 7T TR T AT T 2T BT &7
Options:

1) Bush roller

U T

2) Silent

el

3) Pintle

Tieer

4) Ewast

TaEc

Correct Answer: Bush roller

T2 AR

QID : 1067 - In an involute gear, the base circle must be

T Sl (Swalede) AT &, TR sk AT QT ATRT?
Options:

1) at root circle

T T H

2) under root circle

FC Thel & MR

3) above root circle

FC Hehel & G

4) under pitch circle

g Tl & MR

Correct Answer: under root circle

& Tl & MR

QID : 1068 - Gear teeth are made harder to avoid

MR AT R ____ Tl & TV FoR T/ ST §1
Options:

1) greater compressive stress in bending

Az F P arel 311AF Fuis TH Fl

2) tensile strength

TATTSST T &Y

3) abrasion

JTTEYUT (TSRET) HT

4) wear

g &

Correct Answer: wear

ferama #r

QID : 1069 - The distance between the centres of the rivets in adjacent rows of zig-zag riveted joint is known as

TSestar Ras Sirge i e qfFaai # R & g v g a1 wgelrd 72
Options:

1) pitch

EE]

2) back pitch

3% =

3) diagonal pitch
EENGREGEIREE]

4) diametric pitch

sAfes

Correct Answer: diagonal pitch

ot (sTresTer) =T
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QID : 1070 - The safe twisting moment for a compound shaft is equal to the .

FFT3US ATFE T GIIATT AT e (Aie) % SER BT B
Options:

1) maximum calculated value

e aRFf e

2) minimum calculated value

“eAdH IRFed qea

3) mean value

Jiad e

4) extreme value

HTRH Hed

Correct Answer: minimum calculated value
eAdH IR g

QID : 1071 - What is the usual quantity of free air taken per person in air conditioning system?

HIE: ATl (eI Yool & Ui cafed Taci (sh) arg v & &Fm o el &2
Options:

1) 1.2 m3/sec

1.2 #.3/a%s

2) 1.2 m3/min

1.2 #.3 /e

3) 1.2 m3/hour

1.2 #r.3/ger

4) 6 m3/min

6 #1.3/fAeTe

Correct Answer: 1.2 m3/min
1.2 #.3/fAee

QID : 1072 - The total emissivity power is defined as the total amount of radiation emitted by a black body per unit

SoI% F18Y gaRT ufd 3S # el 3cfid fafor &1 TR &t For scatora aferd & wa 7 aRend faar srar &1
Options:

1) temperature

AT

2) thickness

Herg

3) area

SERTC

4) time

J7T

Correct Answer: time
qAT

QID : 1073 - Sensible heat is the heat needed to

I8 (QeTHISeT) SSHT dg SSHT gleil ¢ Tolgehl 3Maegehel ____ & foIw gl g1
Options:

1) vaporise water into steam and vice versa

STof &t arsg & seofet 3R fae#a:

2) Change the temperature of a liquid or vapour

%4 37T aTST & 19T H IRadeT

3) convert water into steam and superheat it

el &t arsg & gRafda ae 3R s IRe W

4) measure dew point temperature

3t (37) Rieg & ATTHm P A

Correct Answer: Change the temperature of a liquid or vapour
%4 YT aTST & JATIHTT H IRadeT

QID : 1074 - The difference between dry bulb and wet bulb temperature increases as .

e dodl AR el Tod & A9 H e H R I [
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Options:

1) air becomes wetter

aryg el g1 el &

2) air becomes drier

arg s BT S &

3) atmospheric temperature rises
AGHSAY G TG AT §

4) atmospheric temperature decreases
YA 2 T AT &

Correct Answer: air becomes drier

arg e &1 el &

QID : 1075 - The weight of the water vapour in kg contained in 1 m3 of air-vapour mixture at its total pressure is known as

Fel &9 W 1 m.3aqwﬁwﬁﬁ%aaamwwm(%.m ) FT FEATaT 87
Options:

1) degree of saturation

TJoctarr s T3

2) percent humidity

Y gfaerd

3) humidity ratio

AT 31T

4) vapour density

arsq gelcd

Correct Answer: vapour density
ar™yg Yelcd

QID : 1076 - Dehumidification is the process of removing moisture from air with dry bulb temperature

Erdietor (Begehfsfraere) ag uftear & foraet arg # Hisig 7t &1 oo I F aIAT A e e 8
Options:

1) increasing

FerehT

2) decreasing

YcThY

3) remaining constant

HHATT ¥ Y

4) changing in any direction

foralr ofr e & ufafda &
Correct Answer: remaining constant
HHTT ¥ Y

QID : 1077 -
Spray humidifying is the process of adding moisture to the air by passing it through

A. Chiller
B. Air Conditioning Plant
C. Washers

T g wrser (3dfaon) g ufshar § foras st &t T AR A 7 AT STl &

A. ReR (ReeR)
B. aTdlefehfoicd Ha
C. R’}
Options:
1)only A
Fad A

2)only B

Fae B

3)only C

Fad C
4)AorB

A 37Iar B

Correct Answer: only C
Faer C
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QID : 1078 - Dew point is .

3 (377) g o g &2
Options:

1) the temperature at which condensation of steam in saturated air will start

qE ATTHAT TSI T Hefed arg & arsy il Helelol IR &Il 81

2) the lowest attainable temperature for a mixture of air and steam

g1 3T arT & AT & T 9T =g T |

3) dependent on pressure of air

Ay ard W AR T

4) used in connection with air conditioning

ATATIEoleT & HS 3 ST gre &

Correct Answer: the temperature at which condensation of steam in saturated air will start
a6 ATIHT T TR Hefed arg # arsy T Helofol I gl 81

QID : 1079 - Relative humidity is

TTYET 3T T Bl &2

Options:

1) something concerned with air conditioning

aTcllelehele] & Helfotre

2) the ratio of moisture present in air to the capability of air to hold maximum moisture
arg & 3ufeyd 7 AR A CarT AT T T Y &THAT BT AT

3) the ratio of actual humidity to absolute humidity

TARAET 3T & TIT arecfdes w7l 1 3T

4) representative of amount of moisture held in air

arg & Alspg w7 A

Correct Answer: the ratio of moisture present in air to the capability of air to hold maximum moisture
arg & 3ueYd 7 AR A SarT TR 7 T T &7 T AT

QID : 1080 - Cryogenics refers to

FITSITFT T e fra &7

Options:

1) refrigeration at low temperature

o= I IR BReR e &

2) thermodynamic analysis at low temperature

T daTIHTT W FSAVA T fa2eor &

3) engineering field concerned with equipment in the range of — 180°C to absolute zero
~ 180°C & quT o1 7 ¥oF ¥ 30T & Hafetrd JfFifyehr arr

4) Refrigeration under vacuum conditions

et Reafa 7 vhiees &

Correct Answer: engineering field concerned with equipment in the range of — 180°C to absolute zero

- 180°C & quT o1 1 ¥oF # 39T § Hafewral JfPifyehr arr

QID : 1081 - Which of the following refrigerating plants requires no electricity?

PrAfafad & & g UhioRfEer @4 & faege H1 3aegerd ¢l gia & ?
Options:

1) vapour absorption

arsq 3rgeiyoer

2) vapour compression

s gdise

3) air-refrigeration

arg-gelide (Bhierere)

4) vortex tube

aReFH egd

Correct Answer: vapour absorption
arsq 3gLNYoT

QID : 1082 - A hermetically sealed unit implies .

Teh 37aTd (3Tl 87T Wes SRS T 37 a1 82
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Options:

1) compressor is sealed

FIET Hies gl

2) compressor motor is sealed
HIER T AeX des B

3) refrigerant cycle sealed

Tefae wRete) o des ¢l

4) compressor and motor are sealed

FHEX 3R AR Mo B

Correct Answer: compressor and motor are sealed

FUTR 3R AR 2fes B

QID : 1083 - The work required for compression in a closed system increases when the value of 'n' (the index of compression)

g s # FdiseT & foiw &R i 3maegedr 96 Sl § 919 'n' (Fdise qa&id) F AT §
Options:

1) increases

¢ SITdr

2) decreases

e Srdr

3) remains the same

AT Tgdr

4) first increases and then decreases
Igel dgdr 3 T Tear

Correct Answer: increases

§¢ SITdm

QID : 1084 - The value of entropy at 0°C is taken as

0°C U TserdY &7 HTeT IGRIEIGIES

Options:
1)1

2)0
3)-1

4)0.5
Correct Answer: 0

QID : 1085 - On a pressure volume diagram, the process line PVn = C (as the value of 'n' increases) will

ETE-3TT T 3@ &, PVn = C (S-SR 'n' &7 AT S&al §) Tishar @n [
Options:

1) come closer to y-axis

y-31&T & fepe 3T AT §

2) come closer to x-axis

x-31&T & feme 3 ST §

3) come closer to 45° inclined line

I gU el W 45° & foAche T ¥ |

4) remain in the same position

A Rufy A gar g

Correct Answer: come closer to y-axis
y-318T & foiehe 3T STaT &

QID : 1086 - Calorie is measure of .

FART, ST AR B
Options:

1) Specific heat

faferse FeaAT

2) Quantity of heat
FSHAT ST AT

3) Thermal capacity
ATdRT &THAT

4) Entropy

Tegrdr
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Correct Answer: Quantity of heat
AT ST AT

QID : 1087 - Kelvin Plank's law deals with the .

Ffcaa o e _ adefeua g1
Options:

1) conservation of heat

FSAT & TIETOT

2) conservation of work

T & TIETT

3) conversion of heat into work

FSAT & I F TIETT

4) conservation of work into heat

HT & FSAT 7 TIETOT

Correct Answer: conversion of heat into work
SSAT & I F TIETOT

QID : 1088 - Diesel Cycle consists of which four processes?

2rsTel Tsh hleT A TR TiHATI T FeFcl &2

Options:

1) two isothermals and two isentropics

ar gaardy 3R g 3rsdeife

2) two isentropics and two constant volumes

ar Mg 3R ar R 3maasT

3) two isentropics, one constant volume and one constant pressure
Y M, T e 3maa 3R vk e gre

4) two isentropics and two constant pressures

2y MR 3R & 2R g

Correct Answer: two isentropics, one constant volume and one constant pressure

ar IR, T AR 3madaeT 3R e R e

QID : 1089 - Gas turbine cycle consists of .

AgeasTTH H_ a8l

Options:

1) two isothermals and two isentropics

& FAAT 3R & 3RS

2) two isentropics and two constant volumes

CUKIIEN R G AR DL T

3) two isentropics, one constant volume and one constant pressure
I AU, T U 3T 3R T R g9

4) two isentropics and two constant pressures

AR [RU Lo IR R T r A

Correct Answer: two isentropics and two constant pressures

Y s e AR & fFuT g1

QID : 1090 - The heat addition in dual combustion cycle is done at .

GIEX GgeT Teh H SSAT &l TSl I T Bl
Options:

1) constant pressure

R gra

2) constant volume

FEUT 3rae

3) partly at constant pressure and partly at constant volume
37 dk W R gre 3R 3nifde dit ) e 3maae

4) constant temperature

e ara

Correct Answer: partly at constant pressure and partly at constant volume

31 Ak R &R gre 3R 3 ak R 2R 3maaeTr
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QID : 1091 - The concept of regeneration is used in which cycles?

9e: Seuree (ReTeiereT) T HenedalT 1 T fohet Tshi & giell 82
Options:

1) Rankine and Stirling

et 3wt

2) Stirling and Ericsson

F&feReT 3R wReaeT

3) Rankine and Ericsson

s 3R oReaa

4) Stirling and Brayton

AT 3R ST

Correct Answer: Stirling and Ericsson

& 3R wReas
QID : 1092 - A high speed diesel engine theoretically operates on

Hgifas 7 § 39 317d ot 891 T JaTeled ____ A giaT &
Options:

1) constant pressure cycle

TEUT g1 I

2) constant volume cycle

TR 3mIae 9%

3) constant temperature cycle

FER a9 T

4) mixed cycle of constant pressure and constant volume

TR g1 3R R 3madaw & [T g

Correct Answer: mixed cycle of constant pressure and constant volume

R g1 3R R 3mraas & Afaa o

QID : 1093 - The constant pressure gas turbine works on the

R T Agesd_ WHRIT FATg |
Options:

1) Rankine cycle

ST TH

2) Bell-Coleman cycle

S-PIeTHT Teh

3) Carnot cycle

FRAC Th

4) Brayton cycle

SeIeT T

Correct Answer: Brayton cycle

STl Th

QID : 1094 - All diesel cycles except slow speed engines use which cycles?

et 1T & Sl Y DIg T STl Solid AT d a5k (TSTRer) FT AT Ficd &7
Options:

1) Diesel

EECE

2) Otto

3frer

3) Joule

EC)

4) Mixed dual

e s

Correct Answer: Mixed dual

AT sgFer

QID : 1095 - What does the Second law of thermodynamics define?

SRR 7 gfaay faa fha afRkend &ar g2
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Options:
1) entropy
Tegrdy

2) enthalpy
T

3) heat
FCAT

4) work
Y

Correct Answer: entropy
.

QID : 1096 - Air standard efficiency of a diesel cycle is dependent upon
A. Ratio of specific heats

B. Cut off ratio

C. Adiabatic compression ratio

STl Tk ST AT AT et W R A
A. TATRISE FSHT &I eqdred

B. & 3ifth Jearal

C. |AISOT HfSe 3fefared
Options:

1) only A

Fad A

2)only B

%ad B

3)only C

Faer C

4)A,Band C

A, B3iRC

Correct Answer: A, Band C

A B3R C

QID : 1097 - The saturation temperature of steam with increase in pressure increases

TS T FeJoed ATIHT aTd & aGa1 & T A FEr &l
Options:

1) in a linear form (linearly)

@wa: w9

2) rapidly first and then slowly

qF 3 ofreraT 3 3 R -

3) slowly first and then rapidly

qF 3 -0 31 PR ehverar &

4) in an inverse form (inversely)

Sgcshd &Y

Correct Answer: rapidly first and then slowly

o 3 ot & 31 R e-ehy

QID : 1098 - A process occurs spontaneously if its entropy

T GRRAT T (TARTEe) g 8, R sEh T §
Options:

1) increases

§dr

2) decreases

gcdr

3) remains the same

R @A

4) becomes zero

LI ACE |

Correct Answer: increases
T

QID : 1099 - All gases behave ideally under .

sl F 39T 32T STTER FT &
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Options:

1) vacuum conditions

foaTa feufa

2) low pressure conditions

ot gre fefay

3) high pressure conditions

3 gre feufa

4) high pressure and high temperature conditions
3= g9 3R 3Tg a fRufa

Correct Answer: low pressure conditions
ot g et

QID : 1100 - A hot short metal is

g gl

gl e arg
Options:
1) brittle when cold

B2 gl W IR

2) brittle when hot

IR gl T IR

3) brittle under all conditions

& Rufy # siR

4) ductile at high temperature
3= dI9AT W W AAAT

Correct Answer: brittle when hot
IRHA gl T IR

QID: 1101 -
Select the related word/letters/number from the given alternatives.

Red : Colour :: French : ?
& a8 fehedl H @ Haletrd eree/37&R1/TEdT I giav|

@Tel @ 97 :: T : ?
Options:

1) foreign

fager

2) language

EIIE

3) European
R

4) Country

ger

Correct Answer: language
TN

QID: 1102 -
Select the related word/letters/number from the given alternatives.

Chips : Potatoes :: Soda : ?
& a3 faehedl @ Haletrd Wee/37&R1/TET I giav|

e : 31re] 2 |eT 2 ?
Options:

1) Fizz

Eirs

2) Bottle

EIGKH

3) Lemon

Sy

4) Water

g

Correct Answer: Water

qreir
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QID: 1103 -
Select the related word/letters/number from the given alternatives.

Quadrilateral : Four :: ?

& a3 faehedl @ Haletrd Wee/37&R1/TET I giav|

qJHS AR 1 ?
Options:

1) Cylinder : Circle
fafelst : gect

2) Cube : Square
el : Iy

3) Triangle : 180
eproT : 180

4) Hexagon : Six
VS : B
Correct Answer: Hexagon : Six
VS : B

QID: 1104 -

Select the related word/letters/number from the given alternatives.

FGI : HIK :: STV : ?
& T faehedl # @ Helotr eree/3er/aedn i v

FGI : HIK :: STV : ?
Options:

1) UVW

2) VWY

3) XYz

4) UVX

Correct Answer: UVX

QID: 1105 -
Select the related word/letters/number from the given alternatives.

Dream : Area :: Frame : ?
T a8 fqenedl H @ Hafetrd e/ 37&RI/TEdT I giav|

Dream : Area :: Frame : ?

Options:
1) Farmer
2) Ear

3) Fare
4) Freer

Correct Answer: Fare
QID: 1106 -

Select the related word/letters/number from the given alternatives.

Brine : Inert :: Beware : ?
& a3 faehedl @ Haletrd Wee/37&R1/TET I iav|

Brine : Inert :: Beware : ?
Options:

1) Arenas

2) Declare

3) Spare

4) Area

Correct Answer: Arenas
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QID: 1107 -
Select the related word/letters/number from the given alternatives.

169:13::225:7
&2 o faehedl @ Helrere eree/3eri/aedr & giv|

169:13::225:7
Options:

1) 22

2) 25

3)20

4) 15

Correct Answer: 15

QID: 1108 -
Select the related word/letters/number from the given alternatives.

159:840::345:7?
% o faehedl # @ Haletra eree/3tarl/dedn & v

159:840::345:7?
Options:

1) 654

2) 765

3) 876

4) 987

Correct Answer: 654

QID: 1109 -
Select the related word/letters/number from the given alternatives.

761:928::651:7
3 1 fashedl 7 & Hafeera eree/31eRT/EE&dm 1 AT

761:928::651:7

Options:
1) 765
2) 753
3) 807
4) 951

Correct Answer: 753

QID : 1110 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

fw 1w fasmedt & & fawe eree/3raR/wEan/aree Jor/aedr Zad &1 gAv|
Options:

1) kilometres

[CIIE e

2) feet

FT

3) grams

qrH

4) micrometers
HASHIHTT

Correct Answer: grams
IH

QID : 1111 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

T 91T faehedl & fawH eree/ 37eR1/TE/Aee J7H/HEAT Z7A HT Y=T|
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Options:

1) pros and cons
ST

2) dead or alive
7 I Shfad

3) null and void
e AR T

4) sooner or later
3T A&T dr el
Correct Answer: null and void
el AN

QID : 1112 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

few a1 fashedt & & fawa eree/ 31eRi/HET/2Tee Z7H/TEA 7 H AT
Options:

1) Crayon and Marker

haTe 3R AR

2) Pen and Eraser

9o 3R IR

3) Book and Diary

forame 3R sRY

4) Pen and Marker

97 3R AT

Correct Answer: No Correct Answer ( Benefit to all )

QID : 1113 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

T80 970 faemedl & & fawe eee/ 37Ri/HEa/Aee Joa/TEaT I7d &l giv|
Options:

1) oU

2) YC

3)IA

4) EO
Correct Answer: YC

QID : 1114 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

T 91T faehedl # & fawH eree/ 37&R1/TE/Aee J7H/HEAT Z7A HT U]
Options:

1) Cuisine

Eee

2) Business
<qadard

3) Disinterested
el

4) Noisiness

FreTgerar

Correct Answer: No Correct Answer ( Benefit to all )

QID : 1115 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

T&T a1C faehedt & W fawe Use/ 37K/ HEa/ e, Zoa/TEaT I3 & giT|

Options:
1) DRGK

2) WMUL
3) OHAU

4) XHTV
Correct Answer: DRGK
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QID : 1116 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

fw 1w fasmedt & & fawe arse/31aR/wean/aree Jow/aeam Zad &1 v

Options:
1) 7531

2) 2468
3) 9753

4) 8642
Correct Answer: 2468

QID : 1117 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

U 10 fashedt & A favwe s/ 3reR/aean)/Ase. JIA/EEIT oA H AT

Options:
1) 15

2) 25
3)53

4) 45
Correct Answer: 53

QID : 1118 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

fw 1w fasmedt & & Fawe eree/31aR/wean/aree Jor/aeam oA &1 v

Options:
1) 108, 132

2) 114, 156
3) 136, 152

4) 120, 138
Correct Answer: 136, 152

QID: 1119 -

In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

Cremation, Accolade, Maestro, Chrome, ?
Teh 37eTehe 18T a1 B, TSeT Ueh QTee/Teh Ue/Ueh Tl ofod ¢ | fow 910 fashedl 7 & a8 WeT fashed AT ST 37gshat hl 11 |

Cremation, Accolade, Maestro, Chrome, ?
Options:

1) Very

2) Zebra

3) Virtual

4) Time

Correct Answer: Zebra

QID:1120-

In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

Toxic, Icon, Onto, Tomorrow,?
Teh 37eTsha TET 1T B, TSa Ueh 9Tee;/Teh e,/ Ueh HEAT ofod ¢ | feu 910 fashedl 7 @ a8 Wel fashed AT it 31egshat sl Q1 X

Toxic, Icon, Onto, Tomorrow, ?
Options:

1) Owl

2) Wet

3) Rat

4) Borrow

Correct Answer: Owl
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QID: 1121 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

age, dire, genre, stumpy, ?
Teh 37eTsha & a1 B, TSeY Ueh QTee;/Teh Ue,/Ueh WAl ofod ¢ | fw 910 fashedt 7 & a¢ Wel fashed fAT Sit 31gshat hl q@1 1|

age, dire, genre, stumpy, ?
Options:

1) splayed

2) secretes

3) preacher

4) shooed

Correct Answer: splayed

QID: 1122 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

L, J,HF?
Teh 37eTha 3T aTT B, TSa Ueh 2rec/Teh e/ Ueh W1 ofed ¢ faw 910 fashedl & & a8 Wel [ashed IiAT St 31egshdt 1 @1 Y |

L,J,HF?
Options:

1)E

2)G

3)D

4)1

Correct Answer: D

QID:1123-

In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

eca, fdb, gec, hfd, ?
Teh 3ol feram a1 &, TSTaeT Ueh rse/Ueh Ue/Ueh HEAT dvd B fU 910 faehet # & dg T8 fashed YAV SiY 3fegshat 1 T A

eca, fdb, gec, hfd, ?
Options:

1) ige

2)ieg

3) gei

4) egi

Correct Answer: ige

QID: 1124 -

In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

XXXXOXO, XXXXOOX, XXXXOOX, XXXOXOX, ?
Teh 3fefsha T&T a1 B, TSe Ueh QTee;/Teh e,/ Ueh WAl ofvd ¢ | fw 910 fashedt 7 & ag Wel fashed faw Sit 31egshat sl qq1 e |

XXXXOXO, XXXXOOX, XXXXOOX, XXXOXOX, ?
Options:

1) XOXXOXX

2) XXXXOXO0

3) XXXX00X

4) XXOXXOX

Correct Answer: XXOXXOX

QID: 1125 -

In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.
-2,1,5,?,16

Teh 37eThe 8T a1 B, TSa Ueh 9fec/Teh e/ Ueh WAl ofed ¢ | fow 910 fashedl 7 & a8 WET fashed AT ST 37ogshdt hl Q1 Y |

2,1,5,?, 16
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Options:
1)9
2) 10
3)11
4) 13
Correct Answer: 10

QID: 1126 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

-10/3,2,-2/3,2/3,2
Teh Jeohal ferm a1 &, TSTeeT Ueh T/ Ueh Ue/Ueh HEAT dvd ¥ fU 910 faehedt # & dg T8 [ashed YT SiY 3fegshat 1 T A

-10/3, ?, -2/3, 2/3, 2
Options:

1)-2

2)2

3)-1/3

4)1/3

Correct Answer: -2

QID : 1127 - In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.
23,29,?,37, 41

Teh 37eTha 18T a1 B, TSeal Ueh 9fec/Teh e/ Ueh WAl ofed ¢ | U 910 fashedl 7 & a8 WET fashed AT ST 37ogshdl &l 01 Y |
23,29, 7,37, 41

Options:
1) 30

2)33
3)31

4) 35
Correct Answer: 31

QID: 1128 -
Ifa <b,d > cand a < d, which of the following is true?

I.b<c
II.c>a

gi¥a<b,d>c3iRa<d a Ff@addFmad &?

I.b<c
II.c>a
Options:

1) Only I
Faer I

2) Neither I nor II
ATari argril
3)Only II

Fae 11

4) Both I and II
et 1 3R 11

Correct Answer: Neither I nor II
ATarl ATEril

QID : 1129 - The weights of five boxes are 10, 30, 40, 70 & 70 kilograms. Which of the following cannot be the total weight (in kilograms) of any combination of
these boxes?

aie SFET T dote 10, 30, 40, 70 3R 70 fhcltamer §1 st & el of TaitoteT 1 oot dstel (Theitarmat #) o=@ & & ier @1 gl gr gehelr?
Options:

1) 190

2) 180

3) 210

4) 200

Correct Answer: 200
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QID : 1130 - If the letters Q, B, T, A, U, E & N are numbered 1, 2, 3, 4, 5, 6 & 7 respectively. Select that combination of numbers so that letters arranged
accordingly, form a meaningful word.

HERQ, B, T, A, U, E 3iR N shever: TEasit 1, 2, 3, 4, 5, 6 3R 7 &l yeRid il §1 HEa13il & 3T F2erel @1 gol oifeh 38 38R 3R T cqafeyd el oX 3ot
e, |

Options:

1) 5617312

2) 5447134

3) 2471563

4) 3242637
Correct Answer: 2471563

QID : 1131 - If PROXIMAL is coded as KILCRNZO, then how will WHY be coded as?

gfe PROXIMAL &Y fR&lY s # KILCRNZO for@r Sirar &, af WHY &Y 38T s & 7 forg@r simwem?
Options:

1) DSB

2) EDC

3) CDE

4) BNM
Correct Answer: DSB

QID: 1132 - In a certain code language, 531 means 'boy is shy', 346 means 'girl is bold’, 256 means 'shy or bold'. Find the code for 'or'.

forelt s T 3, 531 &7 379 'boy is shy' &, 346 T 31 'girl is bold' &, 256 &7 372 'shy or bold' €1 'or' T HI5 AT H|
Options:

1)1

2)2

3)3

4)5
Correct Answer: 2

QID:1133-

o

In a certain code language, '+' represents 'X', '-' represents '+', 'x' represents '+' and '+' represents '-'. Find out the answer to the following question.

0.1+500-240x6 = ?
TRt IS HTWT H, '+' T AdAd X' §, - FH AGAS '+' §, X' T AdeS '+ § 3R '+ FH AT - g1 FFATI AT 9T FH Seal Ad A

0.1 +500-240x6="7?
Options:

1) 90

2) 10

3)1.25

4) 108

Correct Answer: 90

QID: 1134 - If A @ B means A is father of B, A # B means A is sister of B and A ! B means A is son of B, then what does E @ F ! G # H mean, if H is a male?

IRA@BIITEHA BH UL, A#BFITETRRA BRI TGGALIMNAIBH HTERHA BHGIE, NE@F! G # HFr Far ¥ § ofe H vah qow §2
Options:

1) H is brother of E

H, EFT S &

2) H is father of E

H,E& arg

3) His son of E

HE®ITE

4) H is E's wife's brother

H, E T Yoot 1 1S &

Correct Answer: H is E's wife's brother

H, E & cll a7 9115 &
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QID : 1135 - If 45@23 = 14, 76@22 = 17, then find the value of 55@10 = ?

g7 45@23 = 14, 76@22 = 17, A 55@10 T AT AT HriciA?
Options:

1)8

2) 11

3)15

4)5
Correct Answer: 11

QID: 1136 -
Which of the following words follow the trend of the given list?

Zonal, Tzars, Wizen, Seize, Waltz, ?

AT & & ler @ 2req &1 IR0 Tl T Tgfees T HeThIOT Rl &2

Zonal, Tzars, Wizen, Seize, Waltz, ?
Options:

1) Unitize

2) Ablaze

3) Azure

4) Sanza

Correct Answer: Unitize

QID: 1137 -
Which of the following terms follows the trend of the given list?

ABC, BCAB, CABCA,
efof@a 7 & e a1 ue & 9720 Gl & Fgfeet T 30T el 82

ABC, BCAB, CABCA,
Options:

1) BCABCA

2) CABCAB

3) ABCCBA

4) ABCABC

Correct Answer: ABCABC

QID : 1138 - A girl walks 3 km East starting from her home. She then turns South and walks 2 km, then she turns West and walks 7 km, then she turns to her right
and walks 2 km. Where is she now from her starting position?

Teh SI5ehT 311 B W TR ik 3 Fh.al. g 1 30 <rerelr 81 6 a5 afaior Y 30X Fgant 2 6.3, <rorelt &, 6 a5 afest &1 3k s 7 fn ., Trerch 8, fve ag araer
aTigeT 3R 3T 2 .70, Terell & | TR Ryl & 319 g8 el W2
Options:

1) 10 km to the West from her home.

3% ®X & 10 for. Y. aiRas 7

2) 4 km to the East from her home.

SaF W4 B @ A

3) 10 km to the East from her home.

3 TR W 10 Rral. oF 3

4) 4 km to the West from her home.

39% W 4 4 .4, aRgs Hr ik

Correct Answer: 4 km to the West from her home.

39% T A 4 R, afasw fir 3w

QID: 1139 - Ais standing 6 m to the East of B. A walks 9 m South, then turns to his right and walks 7 m. At the same time, B has walked 3 m West, then he
turned South and walked 9 m, then he turned to his left and walked 5 m. Where is B now with respect to the position of A?

A, B 98 # 6 #1eT H1 g1 W TsT 1 A, 9 Hie STaTuT 1 iR Tera ¢ 3R T 319 grfget 3R s 7 #iex wreldn §1 38T 969 B, 3 #iiex qies &1 3K wera g,
ETEIOT & 3R H3HT 9 He ToraT § 3R T g 319y 9 30X Hg 5 HeX Toram &1 A i Ul § 39 B Fgl w22
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Options:

1) Bis 12 m to the East of A
BAFEH 2AXAgIWE

2) B is 3 m to the West of A
BAGIREA A3 AR A qgU W &
3) Bis 3 m to the East of A
BAF@EAIHMTAIgMgA e
4) B is 12 m to the West of A

B AT aReawH & 12 Micx fr gl &

Correct Answer: B is 3 m to the East of A

BAFEAIHMIT A g MgA e

QID : 1140 -

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given conclusions, if any, follows from the mentioned statements.

Statement 1: All huts are made of mud.

Statement 2: Things made of mud are not strong.

Conclusion I: All huts are strong.
Conclusion II: Mud huts are not strong.

T+ 3 Y FeT & 7 § STk 31T e sy 1 & 11 Teprer 313 €| 31T9eR! AT § 6 Sl T Ty § I8 a8 THId: AT azal & ffiest gaid gl 81| 3mdent oty
F & for fqu 91w forsenst & & srla-an/ala-8 RRad €9 F FU garT G T ST ahdT §/ashd §, T 1S 8Nl

FYeT 1: ol Safsar g & a=ht €
Fu 2: TR A 5o g5 IS off ot FaTel &1 el

sy I: |eft Siufsar Ao &

foread I1: 92T & it g3 a3 aord =gt 81
Options:

1) Only conclusion I follows

Faol sy 1 Tgr &1

2) Either I or II follows

7 o TSy [ @y § ar af sy 11

3) Neither I nor II follows

T ar forsen [ 62T & =7 & forseny 11

4) Only conclusion II follows

Faer fswy 11 T 81

Correct Answer: Only conclusion II follows

FaoT oSy 11 7Y &1

QID : 1141 - In the question a statement is given, followed by two arguments, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should teachers be permitted to cane unruly children?

Argument I : No, this will teach them that physical violence is an acceptable means of social behaviour.
Argument II : Yes, children taught in a strict atmosphere are more successful.

T 3 Teh U T I § TSR MY & ek [ & 11 T a1 €| 31T9ehY ATl § o Sh2reT T § I18 98 AHl=ad: ATd a2l & e wclid 81ar 81| 3maeh! o e §
& forw 7T b I A FiA-T1/FIA-F TF FAorg &, I FE BN

FYA: FAT 3N et o Trw RA&TehT T SIT 1 TINT et T AT &l Tnfew?

a1 : 71T, 389 3¢ g e Aol B e far arenfoe caaer # e 31
& I1 : 81, T&d aIaraRoT 7 RATET =3 31F e ald §1

Options:

1) only argument II is strong

e d 11 Aoed §

2) neither argument I nor II is strong

AT % [ 3R A1 & F 1 Ao §

3) both argument I and II are strong

gt & 1 3R I Aelea &

4) only argument I is strong

el e 1 HIAI &
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Correct Answer: only argument I is strong

Fadl d% [ 7T &

QID: 1142 -
Which of the following cube in the answer figure cannot be made based
on the unfolded cube in the question figure?

fArafaf@a sct Ffa &7 F #19 @ o7 RU 710 woq ygfl & A g ww
¥ T A A HHA?

. olA

Options:
1)

e e

Correct Answer: No Correct Answer ( Benefit to all )

QID:1143 -
Eaed of P blaseng svopr) Sgeey ppiteen (g be cosbhend s ke
1% ey las by

TS e RS/ F AT R RN S T e e
R R A

e
H

i
nun
-

11

.
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Correct Answer:

QID : 1144 - Which of the following diagrams represent the relationship between Engineers, Software Engineers and Chemical Engineers?

fArfaf@a F & i a1 3@ SSfam, TireawR SohfaeR 3R HfFwd Sohfaer & dra geer gufar &2
Options:

4)
Correct Answer:

QID: 1145 -
Options:
1)E,Fand B
E, F3iRB
2)A, EandF
A E3RF
3)B,Aand E
B, A3RE
4)G,Fand A
G, F3RA

Correct Answer: G, Fand A

G, F3RA

QID: 1146 -

Options:

Correct Answer:

QID: 1147 -

Options:

Correct Answer:

QID: 1148 -

Options:

Correct Answer: No Correct Answer ( Benefit to all )

QID: 1149 -

Options:
4)
Correct Answer:

QID: 1150 -
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Options:
1) 21,40,04,69,01
2) 12,13,41,55,69
3) 11,41,44,85,22
4) 31,01,65,58,41
Correct Answer: 11,41,44,85,22

QID : 1151 - Which of the following is not a part of the human stomach?

Refaf@d & & i AT AT &7 H797 6T &2
Options:

1) cardiac

g

2) caecum

JrereTer

3) fundic

wisd

4) pyloric

ST ety

Correct Answer: No Correct Answer ( Benefit to all )

QID : 1152 - Which of the following white blood cells is a type of agranulocytes?

Fafaf@a & @ i O 19d TR H0T, 3101 FIRNFT HI TF JhR 8?2

Options:

1) neutrophils
TSN (A ftherd)
2) eosinophils

3= thera

3) lymphocytes
foFmaEeT

4) basophils

SaIfthera

Correct Answer: lymphocytes

foFpraEea

QID : 1153 - Which of the following is an insectivorous plant?

fFafafld 7 ¥ Hier a1 Freriy e §?
Options:

1) Pitcher

Trequff

2) Alstonia

Foaqut STel (TeESII3T)

3) Calotropis

e

4) Eichhornia

TR fear

Correct Answer: Pitcher

gequft

QID : 1154 - Which of the following represents the correct pathway of water movement in the root?

rafaf@a & ¥ Fia 515 & 3o & afa &1 g7 gafar §?
Options:

1) Epidermis > Endodermis > Cortex > Pericycle > Xylem
RS > wEEHET > Hided > TRET > SIS

2) Epidermis > Pericycle > Endodermis > Cortex > Xylem
fUsfie > IR > TeSEET > FiéaT > TEeH

3) Epidermis > Cortex > Endodermis > Pericycle > Xylem
AT > Ficad > T > IRFH > FEaH

4) Epidermis > Pericycle > Cortex > Endodermis > Xylem
TREfET > 9RFH > Fiéed > tREfET > g
Correct Answer: Epidermis > Cortex > Endodermis > Pericycle > Xylem

AT > Ficad > T > aRFH > FEaH
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QID : 1155 - Consider the following pairs.

Name : Formula

1] 2-Bromopropane : (CH3),C=CHCOCH3

2] Propan-1-amine : CH3—CH,—CH,—NH>

3] Dichloromethane : CH,Cl;

4] 4-Methylpent-3-en-2-one : CH3-CHBr-CHs3

Which of the above pairs are correctly matched?

fFafaf@a e X faar i

IR e
1] 2-STHWYST : (CH3),C=CHCOCH3

2] 9de-1-Vate : CH3—CHy—CHy—NH;

3] STEFARIAYS : CH,Cly
414-Af¥omie-3-8-2-31T : CH3-CHBr-CH3

IRNEFT H F Fied T ST T THeATT Tl 872
Options:

1) 1 and 4 only

hae 1 3R 4

2) 3 and 4 only

had 3 AR 4

3) 2 and 3 only

Fad 2 3R 3

4) 2,3 and 4 only

Faer 2,334

Correct Answer: 2 and 3 only

Faer 2 3R 3

QID : 1156 - What is the IUPAC name of Allyl bromide?

oferer SiaATss &t 3ms. g, 9w, o1 &/ 87

Options:
1) Dichloromethane
SEFARIAYT

2) Tetrachloromethane

CCTFARTHYT

3) 2-Chlorobutane

2-FelRIeg s

4) 3-Bromopropene

3- SiAdeT

Correct Answer: 3-Bromopropene

3- s

QID : 1157 - Formula for Hexamethylene diamine is

EFETARICNET STV 1 I FT 87

Options:
1) NH5(CH5)4NH>

2) NH(CHy)gNH
3) NHy(CH3)3NH,

4) NHy(CHy),NH,
Correct Answer: NH>(CH;)gNH>

QID : 1158 - Which of the following elements is the most electronegative?

PrAfaf@d # @ g dea 1 faegd FoTcashar gedt 30 gl 82
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Options:

1) Aluminium
e
2) Boron
IRieT

3) Gallium
Ao

4) Thallium
Ao

Correct Answer: Boron

IRieT
QID : 1159 - Which HTML tag is used to make a text bold?

foRg TT.E).UH. TS, I I 3UANT SHFET H dleg Fallel & oI R SITaT 872
Options:

1) <body>

2) <b>

3) <br>

4) None of these

STH O IS AGT
Correct Answer: <b>

QID : 1160 - To easily access commonly used commands and tools in a word processor use the bar.

TS AT A A AR R START F A S Tl HATS AR o T TG 3T Fofled & ToIw by IR 7 372097 et 72
Options:

1) Home

el

2) Title

BT

3) Menu

A

4) Tool

[l

Correct Answer: Tool
Col

]

QID : 1161 - Hareli is the harvest festival of which state?

el fore T & wHell T AR 8?7
Options:

1) Assam

3\

2) Andhra Pradesh

JTerTger

3) Himachal Pradesh

GIEER A

4) Chhattisgarh

Bl aIg

Correct Answer: Chhattisgarh

BedrgIe

QID : 1162 - In October 2016, who was sacked as the Chairman of the Tata Sons?

37FTEY 2016 3 R TTeT TH & IIRAT Ug F Sv@rEd o
Options:

1) Ratan Tata

el CIeT

2) Narayan Murthy

ARTT Afed

3) Cyrus Mistry

arsvE faEdr

4) Vishal Sikka

faemer faermr
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Correct Answer: Cyrus Mistry
arsya faedr

QID : 1163 - Which of the following scientists demonstrated that fermentation is caused by the growth of micro-organisms?

Rrafaf@a 7 & fra denfae & g o frvast gaar shat & faera & T giar 872

Options:

1) Edmund Becquerel
TSHZ Il

2) Dmitri Mendeleev
AT Al

3) Louis Pasteur

IS UER

4) Joseph Priestley
e dreefer

Correct Answer: Louis Pasteur
ESRUEN

QID : 1164 - The line consisting of all the bundles which cost exactly equal to the consumer's income is called the line.

el Y forad welt dser enfirer g foraeh e susiierdr Y 3m & fyersher SRTa &Y, a6 Y@ AT FHgelel 82
Options:

1) demand

AT

2) utility

3gAfarar

3) budget

§olc

4) indifference

ITHAT

Correct Answer: budget
§alc

QID : 1165 - The area under the short run cost curve up to any level of output gives us the total variable cost up to that level.

3TeTeRTele SIIITeT &sh & 3e o &Tthel foalel & el off TR eh g7 39 TR leh & ToIT Fed TR oI9Tet &l B

Options:
1) average
KliR:r)

2) marginal
HHAT

3) total
ool

4) variable

Rt

Correct Answer: marginal

AT

QID : 1166 - If price of an article decreases from Rs 60 to Rs 50, when quantity demanded increases from 1,000 units to 1,200 units. Find point elasticity of
demand.

I fordlt g T H1oAd 60 TIX F T 50 FTA 1 A & ST HieT Y AT 1,000 SHE & 6 1,200 SIS el &1 T &7 vy &g 771y 3|

Options:
1)1

2)-1.2
3)-1

4)1.2
Correct Answer: -1

QID : 1167 - Which ratio is the proportion of the total deposits commercial banks keep as reserves?

SATEHITA dehs AT Fool STHT T S AT HRTET AT & &9 & 7@ €, 38 ST T 31T FHeT Sl 82
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Options:

1) Cash Reserve

IRFATT e

2) currency deposit

HIET AT

3) Reserve deposit

AR ST

4) Statutory Liquidity

arfafees aerar

Correct Answer: Reserve deposit

IRT&T ST

QID : 1168 - Gross Domestic Product + Net factor income from abroad =

Hehel B 3cuT + fageil & gree faer sre 3ma =
Options:

1) Personal income

ERIEGEIKI

2) Personal Disposable Income

FafFas yasT 3

3) Gross National Product

Hehel TS 3cTG

4) Net National Product at factor cost
FRE AT W fAaer T 3416
Correct Answer: Gross National Product
Hhol AT 391G

QID : 1169 - Which of the following metals is not used as a catalyst in catalytic converts fitted in automobiles?

Arafaf@a # @ forg anrq &1 37T argat & 3R IRads 7 3aRE & ®9 7 g2 & o sirar?
Options:

1) Platinum

clfeteT

2) Polonium

BT EE]

3) Rhodium

Qe

4) Palladium

Yafsas

Correct Answer: Polonium

qrenfaas

QID : 1170 - Bio-magnification is well established for which of the following pollutants?

S 3raee (ardTehihhere) feafaf@d & & e fader gere & fav glafea &2
Options:

1) zinc

e (Sredm)

2) mercury

qRT

3) copper

GIC

4) nickel

forher

Correct Answer: mercury
IRT

QID : 1171 - All changes in climate and weather take place in which layer of the atmosphere?

Storary 3R A 7 g arer el aRace argHse Y R HEa 7 g 82
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Options:

1) Stratosphere
HAATIHS S

2) Mesosphere
ALIHASH

3) Thermosphere
FATAH (TATEHRR)
4) Troposphere
&HAST

Correct Answer: Troposphere

&NITHS T

QID : 1172 - Which type of electromagnetic radiation converts oxygen into ozone?

fore v &1 faege g fafoT sifaeiisr it 3ieter 7 aRafdd & &ar §?
Options:

1) Gamma rays

AT fRoT

2) Cosmic rays

3iaeT fReor

3) Infra-red rays

37aRerd faor

4) Ultra-violet rays

RIS TAT foRtoT

Correct Answer: Ultra-violet rays

RIS foRot
QID : 1173 - Jan Koum is the cofounder of which startup?

ST A Fore TETET T TEHEATIF 87
Options:

1) Microsoft

HISHEIFT

2) Google

el

3) Facebook

wHH

4) WhatsApp

grcatg

Correct Answer: WhatsApp
areaEy

QID : 1174 - With reference to the interior of the earth consider the following statements.

1] Body waves are generated due to the release of energy at the focus.
2] The denser the material, the lower is the velocity of the Earthquake waves.
3] There are two types of body waves. They are called P and S-waves.

Which of the statements given above is / are correct?
AT T AR TG & TG H AT ld Fe W faar #{

1] sperfaies T 3¢aT &g @ 3o & Herd @Y & GIreT dar gl €1
2] 31ftre weTea arer qeTdt # S[&Y Al T 39T HA T Bl
3] 37eTfter AT &Y g Y B §1 S oY 3R vw e T e g

ST W PieT T/ HUT TET &2
Options:

1) 1 and 2 only

Fad 132

2) 2 and 3 only

Fad 2 3R 3

3) 3 only

Fad 3

4) 1 and 3 only

haer 1 3R 3
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Correct Answer: 1 and 3 only

Fger 1 31k 3

QID : 1175 - Which of the following is a major tectonic plate?

frfafaa # & Fia & e Radfd @ 82
Options:

1) Cocos plate

Hihd Tol

2) Arabian plate

NI Tl

3) Pacific plate

TRITT FETHRRIT Tole

4) Nazca plate

g Tl

Correct Answer: Pacific plate

eI AGARRIT Tolc
QID : 1176 - The mean distance between the Sun and the Earth is approximately .

& 3R g B A gt afeaded: B
Options:

1) 99.6 Million Km

9 #1396 T fom.#Y.

2) 49.6 Million Km

4 303 96 o fh. AT,

3) 149.6 Million Km

14 03 96 @@ foh. T,

4) 199.6 Million Km

19 aR15 96 =g foh. 7,

Correct Answer: 149.6 Million Km

14 05 96 o fh. 7,

QID : 1177 - The process by which soil deposits through compaction turn into rocks is called

Options:

1) lithification

[RGIEEE

2) Metamorphication
FHIATAROT

3) Slatification

gETareHT

4) Petrification

fRAsHTT

Correct Answer: lithification

Rrefreraa

QID : 1178 - The Rabi cropping season is from .

TS wHe T 3t 4T g 87
Options:

1) April = June

30T | T

2) June - September

ST & RdsR

3) May - August

7S @ 3TET

4) October — March

IFR § A

Correct Answer: October — March

Jecel § AT
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QID : 1179 - With reference to India's freedom struggle consider the following statements.

1] Gandhiji's first major public appearance was at the opening of the Banaras Hindu University (BHU) in February 1916.
2] During the Great War of 1914-18, the French had instituted censorship of the press and permitted detention without trial.
3] Jallianwala Bagh massacre took place in Amritsar in April 1919.

Which of the statements given above is / are correct?
R & TIAAAT TOY & Teal & eafaf@d FuaT | AR &Y

1] arefsly Y gg el Fgca ol Adsiiae 3ufeUfa ?rall 1916 & SaR fewg farafaearer & seares FANE # g3
2] 1914-18 % g1 g & QNI 35T ¥ 9 o) Sfcarer ofem & ot 3R e S & sRmarw dr 3gaAfa & & o)
3]%@@@%1919:&3{@3&@’%

SoTa W ieT AT/H FHYUT T 87
Options:

1) 1 and 2 only

Fad 132

2) 2 and 3 only

Fad 2 3R 3

3) 3 only

Fadl 3

4) 1 and 3 only

aer 133

Correct Answer: 1 and 3 only

Faer 131k 3

QID : 1180 - By the sixth century BC, had established control over major parts of the Assyrian empire.

T U SHT YT A ¥ IRARAT & WA & HTUHIRN HIT TR AT G AT FARS R Foram 2|
Options:

1) Iranians

=Y

2) Greeks

o)

o~

3) Romans
JAT

4) Mongols
Mozt

Correct Answer: Iranians

&

QID : 1181 - Asoka, arguably the most famous ruler of early India, conquered , present-day coastal Orissa.

372N FT IRTAF TR T ARG AT AT ST ToheT §, [Heslal _ TdHATT & ddrd 38T WX &g red & 2|

Options:

1) Pataliputra
areferg

2) Prayaga
o

3) Taxila
aerfRrer

4) Kalinga
Hfclar

Correct Answer: Kalinga

afelar

QID : 1182 - Ibn Battuta was a who wrote about his travels to India in the fourteenth century.

ST T &7 forarelt o, foraey diegdt erarsdT # 379sit 3R I & aR & forar o)
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Options:
1) Persian

2) Egyptian

3) Turk
as

)

4) Moroccan

ARG

Correct Answer: Moroccan

AR

QID : 1183 - One of the earliest Bhakti movements were led by the Nayanars, who were devotees of

IR Al Iearelal § ¥ Teh AR & wicfed & gATS & eerd |
Options:

1) Shiva

R

2) Vishnu

farsoy

3) Surya

I

LN

4) Brahma
SIEHAT
Correct Answer: Shiva

R

QID : 1184 - Phonograph was invented by which scientist?

BIARIT & ATTSHR ohd JATTad o fomar am?
Options:

1) Alexander Graham Bell
TS TEH AT

2) Thomas Edison

Bl Ruinoy

3) Jagadish Chandra Bose

ST g SN

4) George Eastman

Siter Seede

Correct Answer: Thomas Edison

SfAe TS
QID : 1185 - Consider the following pairs.

Event : Time interval ( in Seconds)

1] Period of atomic vibrations : 10715

2] Period of radio wave : 107

3] Travel time for light from Sun to Earth : 10°
4] Revolution period of the moon : 1010

Which of the above pairs are correctly matched?
Peafaf@a ey T TR )

EAT : AT el (Y03 )

1] RATUET FEGAT T 3Tadeprer: 10715

2] Y22 a{eT @ 3radere : 1076

3] SRTRT % {F W G IF A F oo 7 : 108
4] TgAT &1 GRHHT et : 1010

IRFT F P F e 7 e w2
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Options:

1) 1 and 4 only
Had 1 3R 4

2) 1 and 2 only
haer 1 3R 2

3) 2 and 3 only
Fad 2 3R 3

4) 2,3 and 4 only
Faer 2, 331K 4

Correct Answer: 1 and 2 only

Fger 1 31k 2

QID : 1186 - The correct expression for the time period (T) of a particle of mass (m) performing Simple Harmonic Motion, where k is a constant, is

TS 3 I I aTet (M) GeTHTA & H0T 3R 3Tadeprel (T) & ST 3Fad Geer a7 2 ster k &R g
Options:

1) T = 2nv(k/m)

2) T = 2n(m/k)?

3) T = 2n(k/m)>?

4) T = 2nv(m/k)

Correct Answer: T = 2nv(m/k)

QID : 1187 - Who has a wavelength range of 700 nm to 400 nm?

ForgeRT adeTeed S §IAT 700 nm & 400 nm T &It 87
Options:

1) X-Rays

X - fanot

2) Visible light

T YhIm

3) Microwaves

GeH

4) Radio waves

QERITT]

Correct Answer: Visible light
T YhIm

QID : 1188 - How far should the object be placed from a concave mirror of focal length 4.8 cm, when the image is to be obtained at a distance of 12 cm from the
mirror?

4.8 B3, Bl ¥ ATl 31acel GUUT § aEg Bl fehalel 31 T T@M ST S wfafdfer ador & 12 .. $r gff o ured &t ar?
Options:

1)8cm

8 .7

2)10cm

10 .7

3)12cm

12 9.9

4) 15 cm

15 3.7

Correct Answer: 8 cm
8 T

QID : 1189 - The Institution of the Speaker and his role of the Indian Constitution are borrowed from the constitution.

T widenet # faenflenr & 3regar &7 ug 3N 37y ffRer _ wfaers @ & sl g
Options:

1) British

fofeer

2) French

wE

3) Irish

RS

4) Canadian

ShallsT
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Correct Answer: British

fafeer

QID : 1190 - Which of the following is a characteristic of a Proportional Representation system?

rafaf@a # @ Hia @ RAvar gaegfos sfaffics soawar & 82

Options:

1) The country is divided into small geographical units called constituencies or districts

X &2 T OIS BT e sHsar 7 dic & & fore fvaTee &t a1 e e €

2) Candidate who wins the election may not get majority (50%+1) votes
ﬁwmﬁmaﬁﬁ:aﬁma@a(so%ﬂ) Her

3) A party may get more seats than votes in the legislature

ATEl Y gTee ANET & AT & 31T AT e WS T A AT ganc §?

4) Every party gets seats in the legislature in proportion to the percentage of votes that it gets
Y Tt &Y ST A & Jregaret F fenfe 7 € grfder gl &7

Correct Answer: Every party gets seats in the legislature in proportion to the percentage of votes that it gets

Y TET Y UTee Al & Iefural # faerier & de g1l gl 82

QID : 1191 - Which of the following is false with reference to Presidential type of executive?

eafaf@a & @ ST a1 3reaeicrs FRITH & YR & Tei 7 39T &2
Options:

1) President is the head of the Government

ezl SR T THE giar &

2) President is head of the state

Tregafel 27 1 9 Bl §
3) The President is usually directly elected by the people

gl T YT ITHAN T TeFeT Helele J giel §

4) President is accountable to the Legislature

rsgata faenfaen & ufar stareey giar &

Correct Answer: President is accountable to the Legislature

Tseufa faenfaer & ufa Saeeg glar g

QID : 1192 - Which of the following subjects is included in the Concurrent List?

Sfaf@a 7 & Sl a1 vy gaAadt g 7 anfde §2
Options:

1) Banking

SR

2) Trade Unions

gL Y

3) Agriculture

il

4) Police

qferd

)

Correct Answer: Trade Unions

gL "YU

QID : 1193 - Independence of Judiciary means all of the following, except

FrITTeIehT T Tadadr 1 31 Aafaf@a F & FT BIEH T g £

Options:

1) Executive must not restrain the functioning of the judiciary
Fraarferet =aradrfereT & Tt 7 Y TR I arer o qgeTe

2) Legislature should not interfere with the decision of the judiciary.
3iT-faenfeT =argdifereT & AUl 7 gTasid o &Y

3) Absence of accountability

ScacIfied & 3T

4) Judges must be able to perform their functions without fear
graTefer f9aT 877 & 31T I F Toh

Correct Answer: Absence of accountability

SccReT—icd & 379a
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QID : 1194 - Jwala Gutta is associated with which sport?

STel AET R Wl & Fafer 82
Options:

1) Wrestling

e

2) Boxing

FEFRATSAr

3) Badminton

Ssfiea

4) Weight Lifting

ge fafear

Correct Answer: Badminton

SsfHeT

QID : 1195 - Who wrote the novel "Angels & Demons"?

"Ieoled US SH-H" 391 fohde for@r ur?
Options:

1) Dan Brown

& 13T

2) Jonathan Swift

St awe

3) Daniel Defoe

e 3w

4) William Shakespeare

faforgs derady

Correct Answer: Dan Brown
T 13

QID : 1196 - Over two-thirds of all named species on earth are

ST 2t forgts St et gl
Options:

1) Porifera

IR

2) Arthopods

3rfaer

3) Aschelminthes

TEhleAldd

4) Ctenophora

EATHRT

Correct Answer: Arthopods

3maifaisr

QID : 1197 - Which type of epithelium is made of a single thin layer of flattened cells with irregular boundaries?

3Yhell Fieh T ShlsT T YhIX Teh TULY IRAATHT & Toel TR A §=7aT & Torges frar ifaafaa aa &7
Options:

1) cuboidal

YellshIX

2) columnar

TAHTHR

3) ciliated

qeATeY

4) squamous

reehr

Correct Answer: squamous

reehT

QID : 1198 - Which is the longest river bridge in India?

IR T T ST AT Yol Hlof AT &2
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Options:
1) Bandra-Worli Sea Link
-Gl
2) Mahatma Gandhi Setu
HETeAT LN A
3) Vikramshila Setu
[EEZURCIR:G)
4) Vembanad Rail Bridge
AHATTE X A
Correct Answer: Mahatma Gandhi Setu
FHTCAT T A

QID : 1199 - Which of the following is a famous Classical Indian dancer?

fArafaf@a 7 & Fia v 9fig AR e Fde/sTde 87
Options:

1) Amrita Sher Gil

3T RS

2) Satish Gujral

AR RIS

3) Sonal Mansingh

il AT

4) Bhimsen Joshi

et Sieft

Correct Answer: Sonal Mansingh

Hiefel ARG
QID : 1200 - Which of the following is a recipient of the "Ashoka Chakra" award?

fArfaf@a # @ fhd "srelles o qUEhR At o 82
Options:

1) Abhijeet Gupta

KIEEIGH e

2) Hangpan Dada

&9 rer

3) Akhil Kumar

e TAR

4) Sunil Chhetri

g?ﬁ?»r Gl

Correct Answer: Hangpan Dada
&9 rer
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